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Review A{“)

Preview

2-58. See below:

a. The dependent variable is y (distance in meters) and the independent variable is x (time in
seconds).

b. See graph below. Mark won the race, finishing in 5 seconds.
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c. Barbara: y= 3 x+ 3, Mark: y = 4x

d. 5 meters every 2 seconds, or 3 meters per second.

e. 2 seconds after the start of the race, when each is 6 meters from the starting line.
2.59. b,c,d, f
2-60. See below:

a.43

b.25.5

c. 175

261.y=21+3
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2-62. See graph below.
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2-63. See below:
a. The slope represents the change in height of a candle per minute, m= 0 cm per minute

b. The slope represents the gallons per month of water being removed from a storage tank, m =
-900 gallons per month.

2-64. 3
2-65. See below:

a.9
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b. o Or0.15625

2-66. $30 per week, A = 50w + 100, 4 = (50)(52) + 100 = 2700
2-67. See below:
ay=-2+1

b.x: (0.5,0),3: (0,1)




